Jan 20, 2015 (Tues)

Factoring Quiz Review

CCGPS Analytlic Geomehy
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CCGPS Analytic Geometry

Solve equation by factoring

“3 PR
Factored Form: }}{ (g}:‘g

3
Loz s a9
48x3=9x+6x2 HOX =bLX -1x= O

Unit 5A Test Review #2

-

2. 16 +4%2=32x
2 o Y v 4
L =32x# =0

4 & iy
X

=F/ 1
Solution: X = & ‘(’j /:?L

i

< 1& f
DO wTion f‘\g‘af

Solve equation by Completing the Square v

2 i
X = g,x:%fié':'&f%jié

( X-ff}{’x;éff =7
rs . £ e
=) =

3. a) Solve equation by quadratic formula

b) Find the discriminant
c) Based on the discriminant;
and the type of solutions

[P A
3 -4x2 = 7x L+ He-3= o

, be solved multiple ways) ¥ zriadiat e
find the number 3 e
42+ 12x3=12x Qx4+ b
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4. Solve equation chooSing a'mé‘throd (this may
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Solve equation by factoring

5. 20x%- 60x2—-65x3=0 X
Iox ~€5x°-60x = o

S‘xz(éﬁxzv/S’x "‘/52): 0
[ 4g
24

S

& 12
d
(5

Y(x+ 7

5341(""% 4
537 (-4 Ux43)

Factored Form: 5_>< l[X - 4} ( Zb{ + 3>
Solution: _ X = C’J L’: _%

Solve equation by Completing the Square

6. 22+10=16x 2x"~/éx+4/0= 0O
AT U

> e 4 e
Y _Ext5=o0o

sk 4l =-5 /s
BY-CES)= )4
(-4 )= 11
Vexow® =2 Jit”
=4 = +JiT

-

7. a) Solve equation by quadratic formula
b) Find the discriminant
¢) Based on the discriminant, find the number
and the type of solutions
R
A+ 7x1T= o

2x2+7x=9

~

TPV 42 (41)
2(2) ’

~77/-a3

8. Create a quadratic function that has solutions at
x =-3/4, and x = 2/3. Make sure that it is
written in standard form ax? +bx+c=0
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Analytic Geometry Unit 5B Practice

k "L “g’iﬁ. o "PI ig
1 y=x2-4x-12 e 33 0% g} -ty
/ f 2(1) b=t
. {. 2~/
Form: gfé”igﬁia V%) = { Opens: ‘% g ___'gf
Vertex: é ,“é) AOS: ){21 4 ~e b
x-nt: “‘2 e}, (¢ o ,E y-int: CD ~12.) ] ‘ ;\é ‘ §L
Domain: J E Range: F - ﬂf» ool ’% )
] ‘_%w j 3 ,
End Behavior: . As x— w,f(x) »__ T 8> - v
= S R : - 2010
AS X— -, f(X) - T____w TR f
L '
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1 /
Interval{s) of Negative: ('2 A ‘) : :
i -
Min: (2 </¢) or 4L | I
b ¥ 1AL 7 k
Max: _#l1ohe, — ‘l T/
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Vs - :
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—2- o
Y-¢ ~ -2 7
B —y 7 { o=
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2 y=2(x+3)x-1)
gj V . A
Form: m{&ﬁzﬁ% i #C{E g Opens: g_"? 18
Vertex: { ACS: X2 ~{ v 13
xint: { *{w_} (fJ ) yen: ff o, -6) ‘ e
Domain: é ~&DJ &4 } Range: j **?‘ K\J}\) 5@: A
End Behavior: Asx—» o,f(x) —»_T03 \ o : :
AS X i) ?Q& . “a dak REER YN ANy
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Average Rate of Change from [-4,0]=_— { -3l :
] . .
(H12) to=t 4 [\ e
/ —&fg % ! : ~{ -5
(o) ™ = | =T ‘|
08 - i
! / o2 ‘




Analytic Geometry Unit 5B Practice

(2
15
14

15~
12

3. y=—(x-4)2+1é6

Form: Opens:

Veriex: /L" ;65 AOS: X = Ll—
x-int: (0 9) (a” 9) y-int: CO 0)
Domain: ( Ob 00> Ronge {~OD /é 7

End Behavior: As x—>oo,f(x)—> = oo 2
As x— —o,f{x) > 0
Interval of Increase: ( 00 l* )
Interval of Decrease: ( 11" oo \
Interval(s) of Positive: (0 5 )
interval(s) of Negative: l{*w 0J U/ ? 05> 2 !
Min: MM- / : ol Bl kil > PN AR N
Max: CLfd/é) - & /6 ’ ‘

Average Rate of Chongé from [0, 2] = é YT ) %
( 0, O ) [ 2 2 = 4 ) 4
(2 ,12) ' .

4, y=-x2-10x-21

5 ';M”JQJ a= -/ Opens: i{aﬁh
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End Behavior: As x— «,f{x) -
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As X—> —0,f(x) = . O | 7 \
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Analytic Geometry Unit 5B Practice

For the following problems, either state the transformation that are occurring or write the equation based on the
ransformations given..

5, y=-2x—-4)% +7 ,
» i V 3, ; Z ' 4 A "
Vertex: {/ %;‘ ?) Horizontal franslation: __ ¥ £ ‘?ﬂ‘?’ éfl: d "%
¥ § ’ f :
Vertical fransiation: ?9 Yy Stretch/compress/reflect: O %J{.;‘f‘g !*‘f %‘j‘(«%‘; ‘gfi

6. y = ——]-(x— 32 -9
Vertex: é 3 — t?) Horizontal translation: ’f»f “% 7{ ~P 4 ;ﬁ}

S + 7& / :
Vertical ransiation: 4 #97 f[ valg Stretch/compress/reflect: ) & Jﬁgg ikl ? ol i{ /é

y=—{x+57 %o

-0 1
Vertex: { 5 d:f‘ U> Horizontal franslation: /& \gf ‘5 “ ﬂ;’;{f
: @ v é/{e—r 7h

o - ¢t / 5
Vertical franslation: g/”} < Stretch/compress/reflect: O e éﬁ( CQ fé}@ﬁ ?éé },51‘}
8. The function y = x2,is translated 3 to the right and 4 down.
2
:‘7 = {5{ ,.3) _/ f
9. The function y = x? is reflected over the x - axis onl d translated 8 up.
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Analytic Geometry Unit 5B Practice

10. The function y = x2 is stretched by a fdc’(or of 3 and translated 3 o the left.

y= 3(x+3)+0

For the following problems, sketch a graph of the inequality and write the solutions in inferval notation.

Solutions: r Lt ] .
L

P U 2x-32

=4 (et + 3)
e )

11, y2-4x2 -24x-32
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12. y< -2x2 + 4x Solutions: (‘-06) O) U ( Q) OO>

3.2,
s

~ 27+ Yy
*‘25<(x~ 2)
X=0 Xx=)
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Analytic Geometry Unit 5B Practice

00 %} r..
o K y>x? +4x+3 Solutions: ( 3 U
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15. The product of two numbers is 640. Their difference is 12. Find the two numbers.

X'j«;: 640 X —j = IQ; 12%) o2 40)( {o) 12+J§;Zr

-ﬁyr} & X X(X-ITZ)"Z 640 e 2C )
Znd # 5 X=12 2 . 2152 h452 1552
X -.lzx ~ [ /LN - = Aﬁzy
640 = =
xl2x~440=p| x= s>z



Analytic Geometry Unit 5B Practice

16. Jason jumped off of a cliff Thcn‘ is 480 feet hlgh mTo ihe ocean in Acapuico with mn‘nol velocity of 16 ﬁ/s
‘while vacationing with some friends. His height as a funchon of fime could be modeled by the function

h()=-161> +vt+h, where tis the fime in seconds and his the height in feet. -

a. Howlong did it "foke for Joson to reach ’rhe wcn‘er? . /

%{{510 O‘:*“'}é‘éiié%*a% ,{*{: é jmw;
Vizlh  OFb(¢-¢-30)
hi=hgo O=-(t+5)(t ,ﬂ

|

=

}

o

gg-}‘:,eﬂzw{/}( 2 57 —é—_—,’é/ |

fyiv‘&é@ﬁ

b. Who’r was the highest point that Jason reached? - {think about how to find the vertex of this parabola)
-t _ -1b !
28 >/ S
2{ "iif ,} N

N s .
{ s 1 o~/4f - Y,7
szj I;é(:’fj_é_/gfi{/j*{') }s@)
Loy oz | ;
i ~1 >/ /
\ Mﬁ) Hza L4
C R
17. The length of a rectangle is 6 less than 3 times the width. The area of The rectangle is 144 squore inches.
—_—

Find the length and the W|d1‘h
3x -6 36~/ Z..;
feagth ‘r? ; .
T 3,/)( w2y~%§:}vo
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Gyt )(x) = 144 [”
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CCGPS Analytic Geometry Name K@ L«f

Circle Quiz Review WS #1 d/

. ' X1+ x +
cle equation:. (x~h)* + (y—k)* =’ Midpoint: ( 5 Z’ylzyz)

e

1. Given the circle: x* + (v + 3)% = 36

e
L

a. Identify-the center: (0/ ~3 )

b. Identify the radius: = é +

c.Graphthecircle. ) T P _¢ T E T TS L_Aé R

M

i

el
oy

]
N

4
1

C;’t

(Oc») k K

2. Given the circle whose center is the origin and goes through the pomt {-2,7)

Write the equation of the circle in standard form [)( *“’G) +[U Q’) 53

Afgnj r? 'Gf

1= (o-2)% (o-?)L
{1: Ql_@ ?.2

4+ 419
r = 53

3. Given the following graph of the circle:

Identify the center: (/) Q:) e =

co

‘." A N,
I"t o
3 — & -
Identify the radius: ¥ = Lf L\ - ‘ ]
8-7-b6-5-4-8%-1 23 X¥ERT E}:
\\"1-., .}_ﬂ/

- 'Write the equation in standard form:

(%) +(y-2) =] s

i1
r




X1+ Xy Y1t 3’2)
2

Circleequation:(x—h)2+(y—k)2=r2A Midpoint: ( '2 ,

4, Given the equation below:

A. Write this equatlon in standard form: [X‘H\ +(LI“IQ‘) Q 5

B. ldentxfy the center and rachuc of the circle. Center: (4 I a') Radius: 5
5. Given the circle with a center at (1, -7) and a radius oﬂﬁd [ / g,_
Write the equation of the circle in standard form: [X ') + j‘f‘ ;.)
X h k

6. The circle passes through the point (5, 6) and has its center at (2, 3).

2, 12
Write the equation of the circle in standard form: (X"Q) + (y “3) = | 57
¥ £inX r*

o) &) | (x-a)(3)=
r= (5‘-:2)+(g 2)" |
)’2: 3 4_- 3 = /g

X (ji el 72 XMSF mwpfr/‘ vf ‘(?M’J’ CQ/V"}QV'
7. The endpoints of a diameter are at (2, 3) and at (-6,-5). ¥ use CNL,& %w-l,@,, .~ £
. ‘ . ' o el iug

L ) 2
Write the equation oftvhe circle in standard form: [X +<l} + (bj 'HJ = 3i

Mw(/o (J\ éj 3—§> C&'\%fr( Q

2z 7 Ak

rL (’Q+z)2+(3+r)z

s 47 o
'rZ: 16+ 14

=32




PARABOLAS:

Conics: Parabola Day 1

Graph opens up

Yl (Think y =x7)

G- =4p =B

g p: distance from vertex to focus (inside
: parabola)
. p: distance from vertex to directrix (line

March 9, 2015 (Mon ) }/
NE

Parabola: a conic section where the distance from 1 fixed point (focus) and a line is equal.

Graph opens down
(Thinky=-x%") °

(-1’ =4p (y-K)
Vertex (h, k)

" p: distance from vertex to focus (inside

parabola) ,
p: distance from vertex to directrix (line

S . outside parabola)
 Axis of Symmetry(AOS) : x=h AOS:x=h
1:.‘:LR=I4pI LR =l4p|
Graph opens right Graph opens left
(Think x=y*) (Think x=—-y%)
(y-Kk7=4p (x-h) -k =4p (x-h)
Vertex (h, k) Vertex (h, k) )
p: distance from vertex to focus (inside p: distance from vertex to focus (inside
parabola) parabola)

p: distance from vertex to directrix (line
outside parabola)

AOS:y=k

LR = [4p|

p: distance from vertex to directrix (line
outside parabola)

AOS:y=k

LR =|4p|

“kY ens up
f:‘sf “f’

Hp=%

pEL

i

3 oy
B

[w

x]

Vértex: ( aj -1 >

(2 1)

’Direc‘trix: ('{:’ -3

LR: ’:ff@:: ¥

42)49]



Graph the parabola:
2. (y+ 3P =+0x

. (f"ff “Pple-h)
opens ﬁig‘i

é" “5’3\3 &&{Y QX

s
(o]

et

e
.

i 3

“p
f

X

e

ot 3
P et B s B

NN
\% 5

[»n i e ;)

Vid

S

&

Vertex: ( @,‘”2\\

AOS: 4 =-3
s 3
Focus: ) {”3 j_—%}
Directrix: X‘*’*;
LR: %5’{5’): QJQ ,
V VL i RE AT :;iﬂf_
53"Ej = Lﬁ,af.ii-«ﬂ> opeas 1If
4. (-3 = 12(x- 1) bpoi
; ‘!
TR £
t ) 3 i3 4 »
‘ T |
G
Y ]
> . & g
2 ; ]
TR N
i1 :
f0L-81.8: . R 68210
7Y S ‘
A \“"-'-35
= z
1s
10

Directrix: < — -2
e H3)=2

State the vertex, AOS focus, directrix, and LR

{lx*fﬁ % - Z{f‘}{“‘“}i)

n tp=14
",
\ » i 2 r-
- 7
ﬁ; "
\.;\" T .i‘li
*.\’ e = 2 g
RITICERS ¥ §‘ 1
3 Er
Vertex: (-’L?, Q‘,
Aos: A= -H
Focus: f‘“ 5‘: é)
 Directrix: é’%:h;“

g 4. E“.
e 44)=1¢

(- 5)?

—_

(ahy"= 4o (4=K)
= —4(y + 5)

il
53!.@%; TV AN

{*ﬁ"‘fé
P

[ ==

ey

Ny

AL 3

”ﬁy

v J
AOS: ;ﬁf =5
Focus: { 5:“ 4; )
Directri;c: Yz -4
re H) =4




CCGPS Analytic Geometry Unit 6 Review 2

Circles, Parabolas, Systems of Equations —— _m\ - 0
Bquations: (x—hY’+ @y -kP’=1 (x-h’=4py-K) (y—K)? = 4p(x ~ h) P
______ - Graph the equation and identify the important charactenstxcs @-f
""" 1 8y+x —4x+1=5
}( — '{r‘}{' -+ Lu
(’ E - ;% V- ;2
v") = é) =(2)=4
Standard Form:

Opens: &"[7 OWN  Vertex: |

Focus: /Q = ﬂ Directrix: 4 :—3
< J

Bl

T S
len g e ]

X < A 7
Focal Width: %} Axis of Symmetry: Xz Lbiar Elr

Write the equation fer each circle in standard form. Then identify the center and radius.
2. The endpoints of a diameter are at (-4, 4) and at (-8, 2)

W {‘”’_ ;‘} (_-5 \_}y %3)

R“K
Cxi"@r,vé 3) {x-kY “Hu}{} 1’“

R B s

v 2 Ton2 , . a7
Equafion. (*’( "f"‘»{) 33 =44 Center: : ius: g‘f’
¥+t 42y -4y -—11

V

3.

StandardFormEquatlon /X ti ) ul ;[ "Q) *’f/!

Center: { ""} } Radius: L’L




h K

14 2 —
4. Given the circle with a center at (-2, 6) and a radius of('i\/i J - =& O

.2
Write the equation of the circle in standard form: (/ X +f9\:}z‘§’ ( 3[ B ! J) - SD
5. Find the standard form of the equation for the parabbla with a focus located at (-1, -2) and directrix at x=3
Vedr (1 ,-2) BRI Gk A

j:’é-—%

: X‘Q’f‘ (“59%32:36
7 . )
X (-4 -x)(-4-x) =36

2 . , b B
X t 3C+6x+Ext —36= 0

2 412x =0

2 48x—6y+9=-8
7. Solve the system {y Ty

[~

using algebra. SHOW ALL WORK.

2x+y=1

z
'

C K
i

LS

(I- %)if' o —L(1-0x) +F+8= 0

((-0)(1-24) + 8% - E+iox+17 =0

e

¢ N i, }’.-—- i —
[ =0y =axtHx +2ox + 1 =0

P e

. m} 2 ’ . Y 3 A "
L’ w b +la= 0 (é_,,%f
Uf’é{‘\(
7

/’?(yf«;ﬁr‘x»@): ~




CCGPS Analytic Geometry Probability Test Review 2 = g 7{
Combmactin g S

1. The math club is electing new officers. There are 4 candidates for president, 5 candidates for vice-president, ™ :

2 candidates for secretary, ond | candidate for freasurer. How many dffferern‘ combinations of officers are :

p0551b1e2

452 =

2. A piggybank contains 2 quarters, 3 dimes, 4 nickels, and 5 pennies. One coinis removed at

random.
a) What is the probability that the coin is a dime? 3
‘ 7 d;

b Z A
— — BV S

) What is the prebability that the coin is a dime or a nickel2 a-— 4
VL ST BT

c) What is the probability that you choose a nickel and then a nickel2 (without replacement)

4.3

is not a quarter? Hg I3

d) Whatis the probability that th

3. Each ofthel ‘e’r‘re’rs of the word "ALGEBRA " is on g séporofe card. The cards have been mixed
and placed in a box. If you select one card at rondom what is the probability that its letter will

be llAu

2

——p

+

4. A card is randomly selected from a standard deck of 52 cards.. Find the indicated probobm’ry
*Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 di iamonds, 13 spades, 13 clubs, 13 hearts,

36 numbered cards, 26 red cards, and 26 black cords .
b} P{Ace or a Diamon

a) P{Face card) (2 d)
ing 3 1k /
527853 13

———— ,_
T4
> 52 52 F2 {
c} P(Black and Ace) : ' . d) P( Black card or Fdce card) ?
T B .
e (=€ 32 Jg
. A 2& f

A 2 y (
Leofin - Ovj— | 5‘2 £, .
‘ 5 2 ‘

{%V& 5 52" 32 3

the @WJ& r




5.

6.

7.

Two cards are randomly selected from a standard deck of 52 cards (WITH REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearfs, 36 numbered cards, 26 red cards, and 26 black cards.**

a) P(Jack and Heart) b)-P(Diamond and Diamond and Diamond)
413 ’ A3 iz o3 [L]
75 (5 52 52 527 €%

c) P{Red andKing) . d) P( Black card and Nurphered card)

2. [} 26 36

52 52 |2¢ ‘ 52 52
Two cards are randomly selected from a standard deck of 52 cards (WITHOUT REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.™

a) P(Jack of Hearts and Heart) b) P{Face card and Face card and Ace)

AL [T
52 5_’1. Tz21)
d) P(Black Card and Red King)
26,2 =L
52 51 [ oO.4F

The probability that a student plays tennis is 47%. The probability that a student plays tennis and
Lacrosse is 16%. What is the probability that student plays Lacrosse, given that they play tennis¢

¢ 0.16 0.\ i
i
0.4 .

The probability that a high school senior drives o school is .81. The probability that a high
school senior having a job and driving to school is .52. What is the probability that high school
senior will have a job, given that they drive o school?¢

252 o[o.64]
- —_— ™
e 064

For #9 - 13, refer fo the following table.

;
Male Female S‘)ub‘fotal 9) P (Male) = - 155 - 3’

Blue Eyes 40 " 20 g O

Green Eyes 10 80 70 10. P (Green Eyes) = ——

Subtotal SD 00 150

‘ /-cle.-;mwém%&f&
11.P(Creen Eyes | Male) = 12. P{Male | Green Eyes) =

5 52{ 13) Math ard Gom yes e lperdsit
P(M(G) % P(GIM)




